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Additional ripple is caused by load transients. This_means that the output.

capacitance needs to be larger than calculated apove to meet the total ripple reguirements. The output capacitor
as to completely supply the load during the charging phase of the inductor. A reasonable value of the output

capacitance depends on the speed of the load transients and the load current during the load change. With the

calculated minimum value of 53 pF and load transient considerations, a reasonable output capacitance value is
in a 100 pF range.




